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Lecture 19

● Linked list implementation, continued
○ create()

○ append()

○ print()

○ search()



Linked Lists

A sequence of data / pointer nodes

Maintain pointers to the head and tail

● LLcreate()

● LLappend(L, x)

● LLprint(L)

heap space

LLcreate();

head :

tail :

intlist :

NULL

NULL
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curr = head

return 0

while(curr != NULL) {

curr = curr->next

}

print curr->data

Linked List:  search(target)

81100 81 4964 NULLhead :

tail :

search(64) returns 1

search(58) returns 0

intlist :

64

Q.  What’s the strategy this time?

● similar to print()
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Linked List:  search(target)

81100 81 4964 NULLhead :

tail :

search(64) returns 1

search(58) returns 0

intlist :

64

Q.  What’s the strategy this time?

● similar to print()

● instead of print, return 1 if found 

Q.  What’s the running time?

curr = head

return 0

while(curr != NULL) {

curr = curr->next

}

if equal then 

return 1


